EARAROBEEIERT — 2 N— IBISH —F

20165125230 (&) 20EI£IR3H

IR+ >%—#% C15 B
[AE£] 1% :210,000" ~ 2#&:42,000” ~ 337%&:18,000 M . 43&:14,000 M 53 :8,000
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
s EFREA :38. -1-1- . — £E—& (£R)
: o|Twn 4 3 ax 1(3_8)8 1-1-1-1 | 40.5 1 ig;) 5%-;%.’7‘%?
RNFGUAFATH—L B:Y1IIVEXT 1 — ILIL, YYET7—L
s s= 5 s THERE :40. == . — 1R (£R)
2055 | XATRIVKEZT -2 "3 56.0 (19440% ez |20 ? :?2) AERR
R:ZAN=—3I>TKR—L B:RAXHT)-—Z 17 %5
N N MEBE : -4-4- - HiEg—t (&R
IR EE R R ey | e P s
R:A—JNHh7x B:v1xEN T R
g S RS EEh : ~5-5- = =SHET (&R
4 6| 7LIN—T 4 —2 2 4 e 1.(411).0 5-5-5-4 | 40.4 3 Ag;s il 3
Rix4vagdayy B:O—Kx—»L4 EBRTF— L
= t 6 | BLURTF 1:41.5 6-6-6-6 |40.6| — 6 396 | FHE— (£R)
5(7|7|7~T1VY~— 54.0 2 1/2) © |AE
L:¥xrinMOo— B:FLIA%55 BEHEEGEN RRHWS
: 4 5 | BAK— 1:42.0 9-7-7-7 | 40.7| — 7 473 | DNEEFIE (£IR)
Eﬂ 4| h—T125x 56.0 @2 1/2) -4y |NNAEE
LTI TFINT L2 Bih=TILIF—I ~— 745
o 44 | BREBAML 1:42.3 8-9-8-8 |41.0| — 10 413 | JIIZRBEABL (£R)
718|10| A/ HYRX= 56.0 (1 1/2) ) | B H=24r7
R:A—Y XML 44 B:xvyFIL—X TAAAT7— L
s I 4 5 | MHEHK 1:42.3 3-3-3-5 |42.1| — 9 436 | JIIRBAGL (£R)
8l7|8|AA/ L=~ 54.0° (F4<) ) K—R 5P
R:F15>48) B:AX%v>RIL #H BhE
o EBBTR :43. -10-10- . - HEEME (£R)
9 3| h=T TN 4 4 5%_0 1 (443) 2 10-10-10-10] 40.4 5 :1_870) ez
RF—TIXRTPN=—kr B h=TYXT7HY ~— 745
® £ 7 | EBBEE 1:45.3 6-7-8-9 |43.6| — 4 542 | SAEETF (£R)
10/8|9| V¥»Y=="« X (514) (s2) |WEARA
R:v13IFYT B:XRA—hEIL b Bi#E Bf
® 1—F—@EBIERL
1T=7r= 2,5,8,1,6,(7,9),10,4,3
239—7+— |2,5,8,1,6,7,(4,9),10,3
Ja=5= 2,5,8,1,6,7,4,(9,10),3
43—+ — 2,5,1,6,8,7,4,10,9,3
[ /N
B 2 1004 714K 2-5 180M e E 2-5 220 JEE 1-2-5 2,390M
B B 2 1004 1-2 590M e B 2= 220M EE 2= 3,060/
5 120 1-5 2,080 B & 2-5 260M
1 370M B HE 2-5 240M

ABICOVWTRDTEEERROODE. TR LIV,




